Math in the Movies Solutions
2014 Mu Alpha Theta National Convention

1.  C.  The names of the dwarfs are Doc (3), Bashful (7), Sleepy (6), Grumpy (6), Dopey (5), Sneezy (6) and Happy (5).  3 + 7 + 6 + 6 + 5 + 6 +5 = 38 total letters.

2.  B.  Quint’s quote in the movie is “I’ll find him for three, but I’ll catch him, and kill him for ten.”

3.  E.  The final expression when simplified comes from 
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.  When you clean this up, you get 
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.  The sum of the terms of the expression is 0.

4.  A.  The class is a Calculus class.

5.  D.  With the original selections, the probability of winning is 1/3.  By switching to door number 2, through variable change, the probability of winning the car is now 2/3.  The student switched doors and his reasoning was because now his probability is 2/3.

6. B.  The name of the mathematician was Bill James.

7.  C.  The aliens use prime numbers to communicate the initial signal.

8.  D.  Their challenge is to fill a jug with exactly four gallons of water.

9.  C.  The scarecrow’s exact quote is “The sum of the square roots of any two sides of an isosceles triangle is equal to the square root of the remaining side.”

10.  A.  His character’s helps the child with his Algebra homework.

11.  E.  The answer is one.  The only person going to St. Ives is the “I” in the sentence.

12.  D.  She steals 10 seconds of time to be able to transfer the money.

13.  C.  The formula is 
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14.  D.  It was a limit question and the answer was “does not exist”.

15.  B.  It was a sphere.

16.  C.  Johnny scores a 35% on his math test.

17.  A.  Set it up as a proportion.  
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18.  C.  He was involved in chaos theory.

19.  D.  Spock is asked about the volume of a sphere.

20.  D.  There were 12 hot dog buns in the bag.

21.  A.  The answer is 93.  

22.  C.  The title of the movie was Proof.

23.  C.  Juan = 5x , Carlos = (x-1), Pedro = x.  5x + (x-1) + x = 20.  So x = 3.

24.  D.  The actor was Topher Grace.

25.  C.  5 minutes is equal to 60 minutes of dream time, so it’s a 1:12 ratio.  So 50 years of dream time is equal to 50/12 years of real time, which reduces to the answer.

26.  B.  Captain America has the most screen time in the movie, with 37 minutes 42 seconds.

27.  C.  The title of the movie was Pi.

28.  D.  The area of a circle is 
[image: image6.wmf]  

p

r

2

.  Plugging 400 in for r and using 
[image: image7.wmf]  

p

=

3

.

14

, your solution is 502,400, which rounds to 502,000.

29.  B.  That was the order of the films.

30.  B.  This is the sum of a geometric sequence.  The terms are 3, 9, 27, 81, 243, 729 and 2187.  These terms add to the solution.
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